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Question Number : 1 Question Id : 5459276263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following words cannot be made by using the letters from the given word?

FRACTIOMAL
Options:

1. % TONIC
2. ¥ AFTER
2% RATIO

4. % FLORA

Question Number : 1 Question Id : 5459276263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR # & & A7 Seg, 150 T =g & STaRT &7 JUANT FoF Tg1 a3 AT THaT7

FRACTIOMNAL
Options:

1. % TONIC

= ¥ AFTER

3. % RATIO

4 % FLORA

Question Number : 2 Question Id : 5459276264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing term in the following letter series.

DFG, IEL, NPC, SV, 74 7
Options:

1. ¥ CEF

2. % ZDE

= % DEF

4 % EFD

Question Number : 2 Question Id : 5459276264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
TRAET S1e7 @ | g Ug &1 19 @

DFG, IKL, NP, STV, HZA, Y
Options:



1. ¥ CEF
2. % CDE
3. % DEF
4 % EFD

Question Number : 3 Question Id : 5459276265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. % Diarmnond
2. % Gold

= % Silver

4. % Platinum

Question Number : 3 Question Id : 5459276265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. g
2 ® g
z. % orar
4 ® mAfem

Question Number : 4 Question Id : 5459276266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:

1.9 s
2. % YU
2. % RNJ
4 % GCY

Question Number : 4 Question Id : 5459276266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1.9 Yw3

2. % CYU
2% RENJ
4 % GCY



Question Number : 5 Question Id : 5459276267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following options, three pairs of words are related in a certain way, whereas one is not related in that
same way. Find that odd pair.

Options:

1. * Robust : Ailing
2. % war : Peace

2 % Kind : Cruel

4 9 Kidnapping : Abduction

Question Number : 5 Question Id : 5459276267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % mofeg : SR

2 % g i

3. % SO FT

4 SUETT: aTEd A

Question Number : 6 Question Id : 5459276268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first
term.

Dwoctor : Hospital o Peon: 7
Options:

1. % Office

2. % Servant

2. % Staff

4. % Clinic

Question Number : 6 Question Id : 5459276268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ g7

2 ® Jew

3 % g

4. ® Rriepeare (i

Question Number : 7 Question Id : 5459276269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Il & certain code language "COAL" 15 written as "1-13-25-10", then "MORALE" would be written as;

Options:



1. % 12-13-16-25-10-4
2 % 11-13-15-25-10-3
3. % 11-13-16-25-10-3
4 % 12-13-15-25-10-4

Question Number : 7 Question Id : 5459276269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T Fig AT # "COAL" W "1-13-25-10" T FmaT &, e "MORALE" &1 59 W Torar S

Options:

1. % 12-13-16-25-10-4
2. % 11-13-15-25-10-3
3. ¥ 11-13-18-25-10-3
4 % 12-13-15-25-10-4

Question Number : 8 Question Id : 5459276270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a certain coding language, if CAE = 242625 and BAD = 252623 then GEM will be equal to 7

Options:

1. % 212416
= % 222315
3% 202214
4. % 182016

Question Number : 8 Question Id : 5459276270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e i g v §, 9fE CAR = 242625 sfiwBAD = 252623 £ 9T GEM @1 s Mgefas d & war g ?

Options:

1. % 212418
2. ® 222315
3. ¥ 202214

4. % 182016

Question Number : 9 Question Id : 5459276271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Six friends K, M, R, &, G, and V are sitting in a circle facing the centre. M is facing K. R is not next to K. 4 i to
the right of M. ¥ is not facing R, Who is sitting to the right of G7

Options:
1. ¥ K
= %R
3% A
4

Question Number : 9 Question Id : 5459276271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. vV K

o R R

3 8o

4 By

Question Number : 10 Question Id : 5459276272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange the fOllOW‘iI‘lg words as per order in the English dictionary and choose the orne that cormes first:

1. EMERALD

2 EMOTION

3 EMELEM

4 EMAILED

S EMIGEATE
Options:

1. % EMIGEATE
Z. % EMERALD
3. % EMOTION

4. % EMAILED

Question Number : 10 Question Id : 5459276272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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1. EMERALD

2 EMOTION

3 EMELEM

4 EMAILED

S EMIGHATE
Options:

1. % EMIGEATE
Z. % EMERALD
3. % EMOTION

4. % EMAILED

Question Number : 11 Question Id : 5459276273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fead the given staternent and conclusions carefully and decide which of the conclusions logically follow(s)
from the statarment.

Staternent:
Mot everybody who has power becomes corrupt.

COnNClusIons:
[ Absolute power Corrupts absolutely.
II. Some people who hawve power Ty bhecorme corrupt.

Options:



1. % Only conclusion I follows.
= % Cnly conclusion 1T follows.
3. % Both I and I follows.

4. % Neither [ nor II follows.

Question Number : 11 Question Id : 5459276273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % ol Tmepy I 21 e #4aT

2. o e T 11 SIger Fear gl
3 8 1 &I g1 Srga &l 8]
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Question Number : 12 Question Id : 5459276274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing riumber in the givern nuimber series.

5, B.25 75,7 10, 11.25
Options:

1. % 85

2 % 925

3. ¥ 375

4 % 9§

Question Number : 12 Question Id : 5459276274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS T ST o o0 HEdT 1T B
5,625 757 10, 11.25
Options:

1. ¥ B85

2. % 925

3. ¥ 375

4 % 95

Question Number : 13 Question Id : 5459276275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfE#2 =400 10#5 =200, 18 #¢ = 200 then find the value of 14#2 =7

Options:



1. ¥ 700
2. % 500
3% 16
4 % 23

Question Number : 13 Question Id : 5459276275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AEB#2 =400, 10#5 =200 18 #6 = 3009714 # 2 = WA T HI=07

Options:
1.9 700
2. % 500
2% 16
4 % 28

Question Number : 14 Question Id : 5459276276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given options 2 pair of numbers are similarly related and one pair is differently related. Find the pair
which is differently related.

Options:

1. % 4 8

2. % 49 27
2% 100, 1000
4 ¥ 5 25

Question Number : 14 Question Id : 5459276276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 4 8

2. % 9 27
3% 100, 1000
4 %5, 25

Question Number : 15 Question Id : 5459276277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the rmissing riurmber in the given series.

7,9, 6,85 7,46
Options:
1.% 8
2. %8
3.9 7
4 % 5



Question Number : 15 Question Id : 5459276277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST TS #TelT § o 6T #11d ®4

7,9, 6,8 5 7, 4,6
Options:
1. % 8
2. % 8
3.¥7
4 % 5

Question Number : 16 Question Id : 5459276278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain manner. Howewer, one option is NOT like the other three,
Select the option which is different from the rest.

Options:
1. % 26
= ¥ 24
3% 52
4 % 78

Question Number : 16 Question Id : 5459276278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % 26
2 ¥ 34
3. % 52
4 % 78

Question Number : 17 Question Id : 5459276279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhich of the following Venn diagrams best represents the relationship between swinumers, joggers and men?

Options:



Question Number : 17 Question Id : 5459276279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

o~ \

I_.-" N .'|

[ 1 A

L A | \
[ #

-

Question Number : 18 Question Id : 5459276280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two girls Vinita and Eabita are playing. ¥inita is facing South-East. She turns 120 degrees, then she turns 45
degrees clockwise, then she turns 90 degrees to her left. If now Babita is standing opposite Vinita facing her,
then in what direction is Eabita facing?

Options:
1. % East

2. % West
3. % HNorth
4. % Sonth



Question Number : 18 Question Id : 5459276280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. ¥ g
2 % gkm
3 % I

4. % Zigo

Question Number : 19 Question Id : 5459276281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the option which completes the series givern in the question figure.

M| =
X@| B+ P ?

Options:

Question Number : 19 Question Id : 5459276281 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

il

X §

Question Number : 20 Question Id : 5459276282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following cubes in the answer figure CANMNOT be made based on the unfolded cube in the
question figure?

()| o]
NPAOC

%

Options:



X

1.%
L B ]
[ B ]
> R
o B
[ AN ]
e/ ®
4 o

Question Number : 20 Question Id : 5459276282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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rerneral Awareness
Group Number : 2
Group Id: 545927312
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
GETIeral AWATrerness
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Sub-Section Number: 1
Sub-Section 1d: 545927374
Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 5459276283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 1965 Indo-Pak war came to an end with the signing of a treaty at

Options:
1. # Shimla

2 % Lahore
3. % Moscow
4 % Tashkent

Question Number : 21 Question Id : 5459276283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1965 WRT-TT 9 ______ H e AT U GEA T4 W o 912 A B I
Options:

1. % fEmer

2 ® AR
= ¥ grEr
4 & g

Question Number : 22 Question Id : 5459276284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Owirlg to its architectural sirmilarity, is often called "Arc de Triomphe of the East”.

Options:

1. % Taj Mahal

2. % Charrminar

3. % Buland Darwaza

4 % Gol Gumbad

Question Number : 22 Question Id : 5459276284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEGHT ATEg AHIAT & HROT, ______ T SR AT 2T TR T g a6 TRl AT 8l
Options:

1. % JrHgEs

2. ¥ IRAMT

3. % oo g

4 % A TEg

Question Number : 23 Question Id : 5459276285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first floating ATM was installed in

Options:

1. % Madhva Fradesh
2. % Maharashtra

3. % Andhra Pradesh

4 % Kerala



Question Number : 23 Question Id : 5459276285 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TR e Weie T e ______ # worrioe fera T 2

Options:

1. % meguda
2. ® WERTE
3 % amrmey
4. v A

Question Number : 24 Question Id : 5459276286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The class of the phylum protozoa to which Amoeba belongs is

Options:

1. % Ciliophora
2. ¥ Rhizopoda
2. # Flagellate

4. % Sporozoa

Question Number : 24 Question Id : 5459276286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
RIS A HIC 3T 1 @, AT 7T & i & 98 ______ B

Options:
1. % HimeieRT

2. ¥ TEEATET
3. ® g
4, % TORATRT

Question Number : 25 Question Id : 5459276287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

______ is a multicellular diploid organism that produces spores by meiosis - spores germinate and grow into
gametophytes.

Options:

1. % Archegonium
2. % Antheridium
2. #® Gametophyte
4 % Sporophyte

Question Number : 25 Question Id : 5459276287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. % TRmT-aA
2. % seifizem




= ® Mg
4 & TIRHET

Question Number : 26 Question Id : 5459276288 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Effective April 1, 2012, the Total Sanitation Campaign was renarmed to

Options:
1. % Nirmal Bharat Abhivan

2. % Swachh Eharat Abhiyan
2. % Nirmal Gram Abhivan
4. ® Swachh Eharat MNirmal

Question Number : 26 Question Id : 5459276288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 i, 2012 & T Aol FeRadT ST @ A Sgaw] T Teram Tem

Options:

1. & Tva T e
2. ® ToTw WWT A
3. % e U st

4 ® Toew AT FHe

Question Number : 27 Question Id : 5459276289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FMundra Therrmal Power Station is located in ______.
Options:

1. % Madhva Pradesh

2. ¥ Gujarat

3. # Odisha

4. % Maharashtra

Question Number : 27 Question Id : 5459276289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T e UTaY T O AT

Options:
1. % meguey

2. ¥ T
= % anfEar

4 % gEwIe

Question Number : 28 Question Id : 5459276290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TIeA=TE S 10 ATHe el O e & A feg AETETR # T 8
Options:

1. % aeae®



2. ¢ gana
3. % Fat e
4 % g

Question Number : 28 Question Id : 5459276290 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The lowest known point on earth called Challenger Deepislocated inthe _________ AT
Options:

1. % Atlantic

= ¥ Pacific

3. % Arctic

4 % Indian

Question Number : 29 Question Id : 5459276291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Maldives is located south of India's Lakshadweep Islands in the

Options:

1. % Pacific Ocean
2. % Atlantic Ocean
3. ¥ Indian Ocean

4 % Arctic Ocean

Question Number : 29 Question Id : 5459276291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HIeG 1 AT & AyE T G A Fafammd ______ I 3

Options:

1. % [and AETETT

2. % EACE HETET
3. ¢ g T

4 % IOt T AR

Question Number : 30 Question Id : 5459276292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fabi crops are harvested in ______.
Options:

1. % August

2. % May

3. % September

4 % March

Question Number : 30 Question Id : 5459276292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
il B d Wele H W AT

Options:



1. % anreq
2 % @O
3. % fogew
4. At

Question Number : 31 Question Id : 5459276293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Whern were Ehagat Singh, Fajgura and Sulkhdey hanged to death in Lahore Conspiracy Case?

Options:

1. % 1950
2. % 1945
3. ¥ 1931

4. % 1922

Question Number : 31 Question Id : 5459276293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AR U2 & H 97T 6, TNT S o d @1 & Brar of T8 &1

Options:

1. % 1950
Z % 1945
3. % 1931
4. % 1922

Question Number : 32 Question Id : 5459276294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Charter Act made the Governor—-General of as the Governor—-General of India.

Options:
1. #* Maharashtra

2. % Tarril Nadu
2. % Punjab
4. % Bengal

Question Number : 32 Question Id : 5459276294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTET SATE-ad = & MR- 1 T BT el - ST

Options:

1. % mrEy
2 % e AE
3 % o9

4. V' T

Question Number : 33 Question Id : 5459276295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ealban was a slave of and belonged to the [llabari tribe of the Turks.



Options:

1. % Ashoka

Z % Sikander Lodi
3. ¥ [ltutrmish

4. % Babur

Question Number : 33 Question Id : 5459276295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T ______ 7T T[ATH T 2 o &1 SetaTel SITid T oM

Options:

1. % ayarier
2 ® ey Aer
z. ¥ gegatad

4 * gEY

Question Number : 34 Question Id : 5459276296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ is equivalent to the peace tirme of the Param Vir Chakra.

Options:

1. % Keerti Chakra
Z ¥ Ashok Chakra
3. # Shaurya Chakra
4. ® yir Chakra

Question Number : 34 Question Id : 5459276296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEAET = & AT TR & J¥1ay ol

Options:

1. % il =1
o, ¥ T Ow
3 % g
4, % dwaw

Question Number : 35 Question Id : 5459276297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& Long Innings' is the autobiography of ______
Options:

1. % Anil Kumble

= % Kapil Dev

2. ¥ Vijay Hazare

4. % Sachin Tendulkar

Question Number : 35 Question Id : 5459276297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Options:

1. % 37ie drelel
o ® FUA T
3. ¥ T

4. ® g dge

Question Number : 36 Question Id : 5459276298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T A e UiToier e Teerad Torer ¢ AT Juerimera it & gl &1 #ag & 2D/ D e &7 g @ & argafd 41

Options:

1. % gt
2. ¥ 9T
3. % O

4. % giewd

Question Number : 36 Question Id : 5459276298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

[SEO developed an application called
surface of the Earth.

Options:

1. % Bharati
Z. % Bhuwvan
3. ® Mangal
4. % Artrix

______ which allows users to explore a 2D 3D representation of the

Question Number : 37 Question Id : 5459276299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the 86th Amendment, free and compulsory education is mandatory for children betweer

Options:

1. % Swyears and 15 vears
2 ® Gyearsand 18 years
3. % 2 vyearsand 10 years

4 9 ¢ years and 14 years

Question Number : 37 Question Id : 5459276299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
26 o HaTH @ SN, ______ o sl @ s 3 oI qud S7I rara Tae st g1

Options:

1. ¥ cafafiwisay
o ®gafafit1gad
3 % oadefir 109y
4 ¥ gafafiv 14 o



Question Number : 38 Question Id : 5459276300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first Chairman of the Steering Comrnittee was

Options:

1. ¥ Gopinath Bardolol
= % Vallabhbhai Patel
2. ¥ Rajendra Prasad

4. % Jawaharlal Nehru

Question Number : 38 Question Id : 5459276300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TTA HIHTT o Ugel STEde ______ 2l

Options:

1. % T aegidE
2. ¥ JEenTATE Ted
3. Tl T

4 % SFATETAT 15

Question Number : 39 Question Id : 5459276301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et T Qa1 gTHe H R & Ugel Fa0l Oge fdwdT &1 a7
Options:

1. Tda g

2. ® FIiRC FHFAN
3 ® foomg e

4 % FEA PUR

Question Number : 39 Question Id : 5459276301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who becarmne India’s first gold-medallist at the President’'s Cup boxing tournament?

Options:

1. % Shiva Thapa
2. % Zalkir Safiullin
2. % vijender Singh
4. % alhil Kumar

Question Number : 40 Question Id : 5459276302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ wiorl the top spot with 32 Medals in the 30th Surmrmer University Garmes.

Options:
1. % Japan
2. ® China

3. % India



4. % England

Question Number : 40 Question Id : 5459276302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
______ = 30 o IoralEnes Wat § 82 ugw & AT 35 W FIea e

Options:

1. ¥ Fm=

o ® T

=% gEd

4 % iz

Arithrmetic Alality

Group Number : 3

Group Id : 545927313

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

Arithrnetic Ability

Section Id : 545027313
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 545927375
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5459276303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simplify: 98 + 7 + 2 x 3 - 50 percent of 54 + 35 percent of 120 =7
Options:

1. % 22

2. % 26



3. % 20
4. ¥ 38

Question Number : 41 Question Id : 5459276303 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 95 - 7 - 2 x 3 -SONAeT & 54 + IS UdaaT #T 120 = 7

Options:
1. % 22
2. % 26
2% 30
4. ¥ 36

Question Number : 42 Question Id : 5459276304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simplify: 4 x2+5-10)+2+7+325-2+11+55="
Options:

1.% 1

R

3.¥ 3

4 % 4

Question Number : 42 Question Id : 5459276304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT (4 x2+5-100+34+7+35-24+411+55="7
Options:

1.%1

2. w2

3.9 3

4 % 4

Question Number : 43 Question Id : 5459276305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A& cloth tailor requires 1.7 m fabric for full shirt and 1.2 m fabric for half shirt. I[f 100 m cloth is supplied and
=& half shirts made, how many full shirts can be made?

Options:

1. % 24

2. % 320
3. 31
4 % 32

Question Number : 43 Question Id : 5459276305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T U2 & 5ol 1 Gt A8 @ 1] 1.7 1m1 FUS S ETE A o 60 1.3 rm U2 T e ghd g1 i 100 m FUST @vATS BT
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Options:
1. % 29
2. % 30
3. ¥ 321
4 % 32

Question Number : 44 Question Id : 5459276306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Suresh has Es. 1290 in equal numbers of denominations of BEs. 1, Bs. &, BEs. 10, Bs. 20 and BEs. 50, find the
total nurmber of notes he has?

Options:
1. % 15
2. % 30
2% B0
4 ¥ 75

Question Number : 44 Question Id : 5459276306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T U 1290 BT o Trada| o sl GeaT § 1 3007, 5 7007, 10 07, 20 07 &% 50 FUT 31 FHF U Fel oha 1T 57

Options:
1. % 15
2. % 30
2% B0
4 ¥ 75

Question Number : 45 Question Id : 5459276307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Simplify: [y - -vl-fx- v +x -7} + 2x] = 7
Options:

1. % 3x

2 % uty

2V o+ 2y

4 % 2y

Question Number : 45 Question Id : 5459276307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

WARE [y ~(x-y) - -y +x -y} +2x] =7
Options:

1. % 3x

2. % u+ty

3+ 2y

4 % 2y

Question Number : 46 Question Id : 5459276308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

& barber cuts hair for Rs. 50, shaves for Bs. 50 and shampoo for BEs. 50, if combined package is offered for
Es. 120, what percent discount is being offered?

Options:

1. % 10 percent
2. % 1L percent
3. ¥ 20 percent

4. % 2L percent

Question Number : 46 Question Id : 5459276308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ek HT5 S0 F00 H &7 @iedl g #1750 o0 § 27 Gt a=maT & o 50 #u, # I a1 81 7 Gaa! Hee) 120 707 &1 U 2,
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Options:

1. % 10 ufdeT
2. % 15 uidem
3. ¥ condaT
4. % 25 uide

Question Number : 47 Question Id : 5459276309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sells & clocks at BEs. 200 each. How rmach discount can he offer on sale of next S clocks if he wants to make
net 20 percent profit over his cost price of Rs. 150 per clock?

Options:

1. % 20 percent
2. % 1L percent
2. % 25 percent

4. % 10 percent

Question Number : 47 Question Id : 5459276309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& 200 7wl uEt ¥ ¥ 5 TiEt @7 =T 31 At g 9T AT 150 FU7 Uid 9ET W Gg 20 WiAd A FHET AR 8,
IT TF 2T S Tzt & % foRa T g o dwaT

Options:

1. % 20 nide
2. % 15 uidea
. % 2o OideE

4 ® 10w

Question Number : 48 Question Id : 5459276310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

& shopkeeper buys a box of 100 candies for Rs. 60, He receives another 20 candies for free. He sells all his
randies at Bs. 1 each. Find his net profit percentage?

Options:
1. % 90 percent
= % 100 percent



. % 9L percent
4 % 35 percent

Question Number : 48 Question Id : 5459276310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T G 60 T H 100 H2T @1 UF died Weiedl 51 g 500 § 20 H2T 0 #7131 o s adl 321 1 w0y uid #2351 F e
AT B THET g T AT ST F?

Options:
1. % g0 uidad

= & 100 Ui
. ® 95 giguT
4 ® 35 it

Question Number : 49 Question Id : 5459276311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the selling price of an item is doubled, the profit becomes three times. Find the cost price?

Options:

1. ¥ CP =5F|2

2 % CP =5P|3
=% CF = (2Zx5P)3
4 % P = (3x5P)2

Question Number : 49 Question Id : 5459276311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

afe Tt o 7 T Orar ST E1 AT 8, 1 & F19 77 51 10T 81 @0 G A1 Fee
Options:

1. ¥ CP =5P|2

2. % CF =5P|3

3% CP = (2xSP)3

4. ® CP = (3xSF) 2

Question Number : 50 Question Id : 5459276312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& tox of 10 pencils is sold for Bs. 22 at 10 percent profit. Calculate cost price of each pencil?

Options:

1. ¥ Es 2

2 % Rs 22
2. % Rs 198
4 % Rs 18

Question Number : 50 Question Id : 5459276312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
10 U8 =71 0% S1ad 10 Uidad @ 0% 22 207 § &7 AT 81 Uede U &1 o G & 70T F17

Options:




1. ¥ 270y

= % 22wy
3 % 198wy
4, % 1870

Question Number : 51 Question Id : 5459276313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sum and difference of two numbers is 20 and 10 respectively. Find the ratio of the two numbers?

Options:
1.9 21
2. % 115
3% 21
4 % 13

Question Number : 51 Question Id : 5459276313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o1 TR T AN W ST wH: 30 oW 10 81 SET Sl @7 aguTd A @

Options:
1. 21
Z % 115
3% 31
4 % 1.3

Question Number : 52 Question Id : 5459276314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An amount of Rs. 2200 doubles in & years at certain compound interest rate. Find the amount after 20 years?

Options:

1. % Rs 38800
2. % Rs. 18400
3. % Rs 27800

4. % Rs 13800

Question Number : 52 Question Id : 5459276314 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2300 T BT TS TT Tehgheg oI W5 91 H G BT AT 21 20 A a1, 1190 Tapa-T gii?

Options:

1. ¥ 26200 707
Z % 18400 #O7
3. % 27600 O
4. % 13800 #O7

Question Number : 53 Question Id : 5459276315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Joseph invested sorme money for 2 years. Had he invested at 2 percent higher sirmple interest, his additional
gain would hawve beern Bs. 450, Find the arnount invested?

Options:

1. % Rs 5000
2. % Rs B250
3. ¥ Rs 7500
4 % Rs 8750

Question Number : 53 Question Id : 5459276315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST = e U 2 |1 o Tory Terar fopm afe 36 3 uiderd arferer |Termyy s Ue Tehar o g1, a7 36T i i @ng 450 0
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Options:

1. % 5000 #uy
2. % G250 e
3. ¥ 7500 7y
4. % Z7L0 T

Question Number : 54 Question Id : 5459276316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A hot air balloon flying at a speed of 18 kmfh travelled 12 ki During its return journey, the balloon took 1
hour against the wind to reach origin, find the speed of the wind?

Options:

1. % Zkmjh
2. % 4kmfh
2. % Skmih
4. % B lan/h

Question Number : 54 Question Id : 5459276316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

18m1hfﬁﬂﬁﬁ3§.ﬁaﬁﬁwﬂﬁwa¥$ﬁa 12 krry ST ATAT N SO S0 ST AT o SR, el i e A o foy
TaT & TEATE 1 T T GG o, FaT & TS @ AT e b

Options:

1. % Zkm/h
2. % 4lkmih
2 % Skm/h
4 % & km/h

Question Number : 55 Question Id : 5459276317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A village tank can be constructed by 20 worren in 60 days or by 20 men in 40 days. If 20 men start
constructing a tank and work for only 20 days, how many days will it require for 20 women to complete the
ok

Options:
1. % 12 days
= % 15 days



2. % 15 days
4 % 20days

Question Number : 55 Question Id : 5459276317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o T &1 okt @ AT 60 At § 20 migemst grr a1 40 =t § 20 qzat gRT e 31 a@aT g1 i 20 qo9 UF sl @1 WHi
IF T § AW S 30 Todt & TR &0 o §, 1 20 Aiganei @ @ O # & To o T Tt & snmasemar gt

Options:

1. % 12fa
o ¥ 15T
3 % 18%T
4. % 20fT

Question Number : 56 Question Id : 5459276318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A round cricket field has diameter 50 m. If the area of the inner circle is 1)3rd area of the total, find the radius
of the inner ring?

Options:

1. % 20//3m
2. % 30//3m
3. ¥ 40//3m
4 % 30//3m

Question Number : 56 Question Id : 5459276318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e T Tk AT 7 20T 80 111 31 Aley ST N J0 &7 5% ol &1 1 | 3 8F 8, T7 S7aiier oeter 1 =21 &1 AT w7

Options:

1. % 20/+/3m
2. % 20(/Zm
3. v 40(/3m
4. % 80//Zm

Question Number : 57 Question Id : 5459276319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following pie chart shows the percentage of sales recorded by cars of each brand sold by the
manufacturers in a particular weel. If the total sale of cars in the week is Rs. 4.25 crore, what is the amount of
sales recorded by Marutl?

Sale of Cars

Options:

1. #¥ Rs. 65.25 lakh
2. ¥ Rs. 63.75 lakh
% % Rs 61.251akh
4. % Rs. 58.75 lakh

Question Number : 57 Question Id : 5459276319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TrgfeiET e an o fody g 8 Tatarert 2w sl 70 0ol 7S & WRI &R o %l T8 Tawe! o1 aidad gafar 21 afg aag |
FRI HT Pl Telehl 4. 25 TS 00 8, T7 WIS 5T T o1 8 Teleht Toraat 27

FRY A ffr

Options:

1. # §5.25 @rg &7
2. ¥ 53,75 AME #00
% % §1.25 @M w0
4. % 5575 AME w0



Question Number : 58 Question Id : 5459276320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The table given below shows the salary per day (in rupees) paid to & workers. [t also shows the number of days

worked by each of these workers in that month. Calculate the average salary of workers earning more than Rs
20000 in the month.

T No.of days Salary
worked per day
A 20 800
B 22 900
C 26 700
D 24 1000
E 28 900
F 30 600
Options:

1. ¥ Rs 24,600
2. % Rs. 32,100
3. % Rs. 20,400
4, % Rs. 22,100

Question Number : 58 Question Id : 5459276320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el SF M ARt # uid T od (Fu ) 6 ST w1 I T T 8 9% 39 Ap i # 5 & e ATHw G I ey M fAt
T T 1 T TAiaT 8 TR § 20000 T H S7rerr T ave AT o ST dae P T @

- &3 g (vfafdadas
1™ fFar (FUQ)
A 20 800
B 22 900
C 26 700
D 24 1000
E 28 200
F 30 600
Options:

1. % 24 600 70T
2. % 32100 ¥07
3 % 20,400 w0
4. % 22100 F707

Question Number : 59 Question Id : 5459276321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The line graph given below shows the sales of a fruit vendor of a particular day. Refer to the graph and find
the ratio of sale of fruits having maxirmum and minirmum sales in that day.

Sales per days (Rs.)
EEEE8E8E8

i
]
-

Banana Grapes Kiwi Peach

Fruts

Options:
1. % 57
o ¥ 51:25
3. % 2551
4 % 78

Question Number : 59 Question Id : 5459276321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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600
550 510
500
450

350 320

290
280 260
300 250

ufer et fary (39
3

250 -

Options:
1. % 87
2. ¥ 51:25
3 % 255l
4 % 7.5

Question Number : 60 Question Id : 5459276322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The following graph shows the percentage of students who cleared different entrance exams. If the total
nurnber of students who cleared CPT were 10000, and the number of students who appeared for IIT-JEE is
000 more than number of students appearing for CPT, how many cleared IIT-]JEE?

Percemage of students

CcPT WT-JEE CAT ACET AIEEE

Exams

Options:
1. % 10500

= ® 12500
z. ® 9500
4 # 11800

Question Number : 60 Question Id : 5459276322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraTe e T T Welr TrelTtt bt UTe e SiTel Tt o Hidard i gariar g1 g CPT ﬁwgumﬁfﬁggw 10000 1,
3T IIT-]JEE & To0 Ui 514 aTal 8731 @1 9% CPT & 600 o ana 731 &t 9% & 5000 afdaw g, 91 FFIIT-JEE #

AR T37

=
W,
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CPT NT-JEE CAT ACET AJEEE

Options:

1.9 10500
2. % 12500
3. % 9500
4. % 11800

General English

Group Number : 4

Group Id: 545927314
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No



Break time: 0

Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

eneral English

Section Id : 545927314

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 545927376
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5459276323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

The plane | taking off for Paris [ at 0200 hrs.
Options:

1. % The plane

= ¥ taking off for Paris

2. % at 0800 hrs.

4. % Mo Error

Question Number : 61 Question Id : 5459276323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
seriterice has no error, select the option ™o Error'.

The plane | taking off for Faris [ at 0800 hrs.
Options:

1. % The plane

2. ¥ taking off for Paris

2. % at 0800 hrs.

4. % Mo Error

Question Number : 62 Question Id : 5459276324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sertence has no error, select the option Mo Error'

He graduated [ out of | Oxford university.
Options:

1. * He graduated

2. ¥ out of

2. % Oxford university.

4. % Mo Error

Question Number : 62 Question Id : 5459276324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

He graduated | out of | Oxford university.
Options:

1. # He graduated

= ¥ out of

3. % Omford university.

4. % Mo Error

Question Number : 63 Question Id : 5459276325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'.

Lalit landed roughly | on the dirt track and | created a thick dust cloud.
Options:

1. * Lalit landed roughly

2. % omn the dirt track and

2. % created a thick dust cloud

4 % No Error

Question Number : 63 Question Id : 5459276325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The senterice below has been divided into three parts. Select the part of the sentence that has an error. If the
sentence has no error, select the option ™o Error'

Lalit landed roughly | on the dirt track and | created a thick dust cloud.
Options:

1. % Lalit landed roughly

2. % on the dirt track and

2 % created a thick dust cloud

4. % Mo Error

Question Number : 64 Question Id : 5459276326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

The entire team was nervous since they (was been defeated) the last time they had faced England.
Options:

1. * had been defeats

2. % has been defeated

2. ¥ had been defeated

4. % Do correction required

Question Number : 64 Question Id : 5459276326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

The entire team was nervous since they (was been defeated) the last time they had faced England.
Options:

1. ® had been defeats

2. % has been defeated

2. ¥ had been defeated

4. % MNo correction required

Question Number : 65 Question Id : 5459276327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sertence meaningfully.

After (returns from an) East African tour in early 1948, James quit politics.
Options:

1. ¥ returning from the

2. % returning in the

2. % returns in the

4. % Do correction required

Question Number : 65 Question Id : 5459276327 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

After returns from an) East African tour in early 1948, James quit politics.
Options:

1. ¥ returning from the

2. ® returning in the

2. % returns in the

4. % No correction required



Question Number : 66 Question Id : 5459276328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segment that substitutes replaces) the bracketed word segrment correctly and completes the
sentence meaningfully.

[ filees hirn, buat) [ don't 1owe him
Options:

1. % likes him, not

2. % liking hirm, not

3. 9 like hirm, but

4. % Do correction required

Question Number : 66 Question Id : 5459276328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Select the word segrment that substitutes (replaces) the bracketed word segrment correctly and cormpletes the
sertence meaningfully.

I likes hirm, but) [ don't lowve hirm,
Options:

1. % likes hirmn, not

2. % liking hirn, not

2. ¥ like hirr, but

4. % Mo correction required

Question Number : 67 Question Id : 5459276329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Do wou like to science fiction novels?

Options:

1. * reading
2. % reads
3. ¥ read

4. % readed

Question Number : 67 Question Id : 5459276329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

science fiction novels?

Do wou like to
Options:

1. * reading
2. % reads
2. ¥ read

4. % readed



Question Number : 68 Question Id : 5459276330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullgr.

Kawitha ______ throughout the night vesterday.
Options:

1. % crying

2. % Cries

2. ¥ cried

4. % wll cry

Question Number : 68 Question Id : 5459276330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Kawvitha ______ throughout the night vesterday.
Options:

1. % crying

2. % (Cries

2. ¥ cried

4. % yill cry

Question Number : 69 Question Id : 5459276331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

Pratibha has been ______ for &ir India for the last 15 years.
Options:

1. % worked

Z W working

2% yorks

4 % workded

Question Number : 69 Question Id : 5459276331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Selact the word that fills in the blank correctly and completes the sentence meaningfullg.r.

Pratitbha has beenn ______ for 4ir India for the last 15 vears.
Options:

1. % worked

2. ¥ working

2% works

4. % workded

Question Number : 70 Question Id : 5459276332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the word that fills in the blank correctly and completes the sentence meaning fully.

The clomml for the elephant act to be over before coming on stage.
Options:
1. waited

2. % yaiting
2. % bees waiting

4. % hees waited

Question Number : 70 Question Id : 5459276332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that fills in the blank correctly and completes the sentence meaning fully.

The Clomwrl for the elephant act to be over before coming on stage.

Options:

1. ¥ wmited

2. % wymaiting

3. % bees waiting

4 % hees waited

Question Number : 71 Question Id : 5459276333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sentences of a paragraph have been jumnbled up, and labelled F, ©, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: True to the founding principles of the Revolution: Liberte, Egalité et Fraternita (Liberty, Equality and
Fraternity), he believed that everyone should be treated equally in life a5 in death.

2 The guillotine is by far one of the most gruesome methods of execution. The guillotine is synonymous with
‘the Terror’ of the French Revolution, and it continues to both horrify and fascinate us.

R: France's love| hate relationship with the guillotine ended in 1981 with the abolition of capital punishment.
The last execution using the guillotine took place on September 10, 1977

S:Though his name is linked with the device, Dr. Joseph Guillotin (French doctor, politician and humanist) did
not invent it.

Options:

1. % PORS
2. ¥ OS5PR
3. % SPOR
4 % SRPQ

Question Number : 71 Question Id : 5459276333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The sentences of a paragraph have been jumbled up, and labelled F, &, R and 5. Select the option that gives
the correct sequence in which these sentences should be rearranged to form a meaningful paragraph.

F: True to the founding principles of the Revolution: Liberté, Egalité et Fraternité (Liberty, Equality and
Fraternity), he believed that everyone should be treated equally in life as in death.

: The guillotine is by far one of the most gruesome methods of execution. The guillotine is synonymous with
‘the Terror’ of the French Revolution, and it continues to both horrify and fascinate us.

E: France's love| hate relationship with the guillotine ended in 1981 with the abolition of capital punishment.
The last execution using the guillotine took place on September 10, 1977

5:Though his name is linked with the device, Dr. Joseph Guillotin (French doctor, politician and humanist) did
not invent it.

Options:

1. % PQRS
2. ¥ Q5PR
2. % SPOR
4. % SRPCQ

Question Number : 72 Question Id : 5459276334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMNYM that fills in the blank and makes the sentence meaningful.

The ______ the floor rise, more expensive the flats.
Options:

1. ¥ higher

2. % hire

2. % hier

4. % hyre

Question Number : 72 Question Id : 5459276334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct word HOMOMYM that fills in the blank and makes the sentence meaningful.

The the floor rise, more expensive the flats.

Options:

1. % higher
2. % hire
2. % hier
4 % hyre

Question Number : 73 Question Id : 5459276335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the word that is closest in meaning (SYMNONYM) to the word givern below,

PANDEMONITIR
Options:

1. ¥ Anarchy
2. % Temerity

2. % [gnorance



4. % Condermn

Question Number : 73 Question Id : 5459276335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
select the word that 15 closest in meaning (SYNOMNYM) to the word given below,

PANDEMOIIURM
Options:

1. ¥ Anarchy
= % Termerity
2. #* [gnorance

4. % Condernn

Question Number : 74 Question Id : 5459276336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % Abstanence
2. % Abstinance
3. ¥ Abstinence

4 % Aahstenanace

Question Number : 74 Question Id : 5459276336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Options:

1. ® Abstanence
= % Abstinance
3. ¥ Abstinence

4. #* Aahstenanace

Question Number : 75 Question Id : 5459276337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:

1. % leutenant
2. ¥ lieutenant
3. % lewtenant

4 % lietenant

Question Number : 75 Question Id : 5459276337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four words are giverl, out of which only one word 15 spelt correctly. Choose the correctly spelt word.

Options:



1. = leutenant
o % lieutenant
3. % lewtenant

4. % lietenant

Sub-Section Number: 2
Sub-Section 1d: 545927377
Question Shuffling Allowed : Yes

Question Id : 5459276338 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the passage given below and answer the questions.

The authoritarian and populist government in Brazil is guilty of many crimes. Some, like the assault on the
rainforest, will damage the whole world. Others will only damage Brazil: the latest example is the
announcerment that the government is considering withdrawing funding from university teaching of
philosophy and sociology. Higher education may not seem a top priority in a country where a third of the adult
population is functionally illiterate. The government's education policy is already eccentric. But this is serious.
Sociology and philosophy are subjects which seem o their enermies 1o produce nothing but querulous
unermployables fluent in sophistry and subwersion. Authoritarians promote a rigid society in which there is
roorm for orly a few guides and philosophers at the top. They need to know what there is to know about
humanity and society, but everyone else need only know their place. This was certainly the model against
which the great 19th- and 2o0th-century mowvernents for workers' ermancipation rebelled. Philosophy and clear
thought are, generally, a threat to the pretensions of authority and a tool for a more just and better society.
Sociology is a special case of such an instrument of self-improvement. By helping people to think about their
owrl S0cieties, and to erngage with what has been thought before, it can make for better citizens as well as
better people. To understand the motives of others is to sorme extent to understand our owrl. Sociclogy and
philosophy are not vocational subjects. They are the subjects that inform our understanding of any vocation.
What happens when power ful people think that cormrmon sense can substitute for the disciplines of the
humanities is obvious in the horrible consequences of social networks built by young men who understand
cornputer code profoundly but everything else superficially, if at all.

The philosopher Karl Popper taught that subjects of inguiry could be divided into clouds and clocks: those
whose boundaries and workings, however cornplicated, worked according to clear and explicit rules, and those
where this couldn't be done. Thinking about problers which are by their nature Cloudy and cannot be reduaced
to Clockworks 15 an essential skill in today’'s world, as it has always been. It is not, however, ore which is
always dermanded by ermnployers. Political authoritarians crudely view higher education as merely the servant
of the markets, although any educated person can see that this is precisely the wrong way round.

The principles of liberal democracy are threatened by thuggery, but also by some forms of intellectual assault.
If they are to be defended, and their practice improved, we nead more philosophers and sociologists. It is the
subijects of least obwious use that may prove of ultimate value.

Sub questions

Question Number : 76 Question Id : 5459276339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Wwhich OME of the options fully and faithfully sums up what the passage is about?

Options:

1. # The government of Erazil has comumitted a grave crime in withdrawing funding for humanities in higher
education.

2. % Sociology and philosophy develop skills for fighting authoritarianism and promoting or defending liberal
dermocracy.

2. % Sociology and philosophy equip people with skills and positive liberal values and prepare thern to handle
'fuzezy' problems.



4. % pPopper considered sociclogy and philosophy as subjects of inguiry, which however did not work
according to clear and explicit rules.

Question Number : 77 Question Id : 5459276340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which ONE of the staterments is TRUEY

Options:

1. # The disciplines of sociology and philosophy are given less funds by a government which does not value
higher education.

2. ¥ Solving problems which are by their nature cloudy, and beyond clear and explicit rules, will help us solve
real-life ones.

Z. % It is enough if a few guides and philosophers know what there is to know about humanity and society.

4. # Understanding the skills acquired in learning a vocational subject requires knowledge of sociclogy and
philosophy.

Question Number : 78 Question Id : 5459276341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the argurments atternpted in the passage are extended, which ONE of the staterments would be TEUE?Y

Options:

1. # The education policy of the government in Brazil is eccentric as it dees not encourage higher education.

2. % The assault on the rainforest by the Brazilian government is related to its assault on liberal democracy.

3. ¥ Movements of liberation fight against the imposition of a rigid social order by authoritarian governments.

4. % An attack on sociclogy and philosophy is an attack on the principles of liberal democracy.

Question Number : 79 Question Id : 5459276342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the writer, sociology and philosophy are useful for all the following reasons EXCEPT .. (Identify
the exception.)

Options:

1. # as instruments of self-improvernent

2. ¥ turn people into sophists and rebels

3. % threat to the pretensions of authority

4. % tools for a more just and better society

Question Number : 80 Question Id : 5459276343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the passage, which ONE of the options would fill in the blank and cormplete the staternent below
COrrectly’?

The study of the hurmanities and higher education
Options:
1. ¥ can merely produce servants and salespeople

2. % fosters the ability to produce and sell things
2. ¥ has the potential to create and control marksts

4. % can give the market traders and shopkeepers



Question Id : 5459276338 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

FEead the passage given below and answer the questions.

The authoritarian and populist government in Brazil is guilty of many crimes. Some, like the assault on the
rainforest, will damage the whole world. Others will only damage Brazil: the latest example is the
announcerrient that the government is considering withdrawing funding from university teaching of
philosophy and sociology. Higher education may not seem a top priority in a country where a third of the adult
population is functionally illiterate. The government’s education policy is already eccentric. But this is serious.
Sociology and philosophy are subjects which seerm o their enermies 1o produce nothing but querulous
unermployables fluent in sophistry and subwersion. Authoritarians promote a rigid society in which there is
roorm for only a few guides and philosophers at the top. They need to know what there is to know about
hurmanity and society, but everyone else need only know their place. This was certainly the model against
which the great 19th- and 2oth-century mowverments for workers' emancipation rebelled. Philosophy and clear
thought are, generally, a threat to the pretensions of authority and a tool for a more just and better society.
Sociology is a special case of such an instrument of self-improverment. By helping people to think about their
owTl societies, and to engage with what has been thought before, it can make for better citizens as well as
better people. To understand the motives of others is to sorme extent to understand our owrl. Sociclogy and
philosophy are not vocational subjects. They are the subjects that inform our understanding of any vocation.
What happens when power ful people think that cormrmon sense can substitute for the disciplines of the
humanities is obvious in the horrible consequences of social networks built by young men who understand
cormputer code profoundly but everything else superficially, if at all.

The philosopher Karl Popper taught that subjects of inquiry could be divided into clouds and clocks: those
whose boundaries and workings, however cormplicated, worked according to clear and explicit rules, and those
whiere this couldn’t be done. Thinking about problermns which are by their nature cloudy and cannot be reduced
to Clocloworks 15 an essential skill in today’'s world, as it has always been. It 1s not, however, one which is
always demanded by emnployers. Political authoritarians crudely view higher education as merely the servant
of the markets, although any educated persor can see that this is precisely the wrong way round.

The principles of liberal democracy are threatened by thuggery, but also by some forms of intellectual assault.
If they are to be defended, and their practice improved, we need more philosophers and sociologists. It is the
subjects of least obvious use that may prove of ultimate value,

Sub questions

Question Number : 76 Question Id : 5459276339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
which OME of the options fully and faithfully sums up what the passage is about?
Options:

1. # The government of Brazil has cormmitted a grave crime in withdrawing funding for humanities in higher
education.

2. % Sociology and philosophy develop skills for fighting authoritarianism and promoting or defending liberal
dermocracy.

2. % Sociology and philosophy equip people with skills and positive liberal values and prepare thermn to handle
'fuzevy' problems.

4 % Popper considered sociology and philosophy as subjects of inquiry, which however did not work
according to Clear and explicit rules.

Question Number : 77 Question Id : 5459276340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which ONE of the statements is TRUE?
Options:

1. ®* The disciplines of sociology and philosophy are given less funds by a government which does not value
higher education.



2. ¥ Solving problems which are by their nature cloudy, and beyond clear and explicit rules, will help us solve
real-life ones.

Z. % It is enough if a few guides and philosophers know what there is to know about humanity and society.

4. % Understanding the skills acquired in learning a vocational subject requires knowledge of sociclogy and
philosophy.

Question Number : 78 Question Id : 5459276341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When the arguments atternpted in the passage are extended, which ONE of the statements would be TRUEY

Options:

1. ¥ The education policy of the government in Erazil is eccentric as it does not encourage higher education.

2 % The assault on the rainforest by the Brazilian goverrirmnent 15 related 1o its assault on liberal derocracy .

2. ¥ Movements of liberation fight against the imposition of a rigid social order by authoritarian governments.

4. % Ain attack on sociclogy and philosophy is an attack on the principles of liberal democracy.

Question Number : 79 Question Id : 5459276342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the writer, sociology and philosophy are useful for all the following reasons EXCEPT .. (Identify
the exception.)

Options:

1. # asinstruments of self-improvernent

2. ¥ turn people into sophists and rebels

3. % threat to the pretensions of authority

4. % tools for a more just and better society

Question Number : 80 Question Id : 5459276343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to the passage, which OMNE of the options would fill in the blank and cornplete the statement below
correctly’y

The study of the hurmanities and higher education
Options:
1. # can merely produce servants and salespeople

2. % fosters the ability to produce and sell things
3. ¥ has the potential to create and control markets

4. % can give the market traders and shopkeepers
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Question Number : 81 Question Id : 5459276344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 81 Question Id : 5459276344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 82 Question Id : 5459276345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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a5 AET Teler T



Options:
1. ® gEgEEE
= ® AR

3. % mEEE
4. & graTEE

Question Number : 82 Question Id : 5459276345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T v #, ox Teedt 8 9, 39 ey o7 o3 3+ 51 fow 0 o & argaw T 3 i ot wat e g

a5 AET Teler T
Options:

1. % wEaaEE
2. ¥ gleAmTarEes

3. ® EEE
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Question Number : 83 Question Id : 5459276346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. ¥ [t
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Question Number : 83 Question Id : 5459276346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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If two point charges g1, g2 are separated by distance r in vacuum. the magnitude of the force (F) between them is given
by where (k = proportionality constant)
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Which of the following statements is incorrect?

Options:
. = Atthe surface of a charged conductor, electrostatic field must be normal to the surface at every point.

-  Theinterior of a conductor can have excess charge in the static situation.

Electrostatic potential is constant throughout the volume of the conductor and has the same value (as inside) on its

=z # surface.

4 % Inside a conductor, electrostatic field is zero.
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The dimensions of Magnetic field is:
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Curie Temperature of Nickel is:

Options:
; % 893K

- w 839K
SR ] 713 K

i o 621K
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Which of the following pairs has the same units?

Options:

; = Magnetic Flux and EMF

- % EMF and Mutual Inductance
% « Mutual Inductance and Self Inductance

4 = Self-Inductance and Magnetic Flux
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A steel wire of 0.72 m long has a mass of 5.0 x 10~ kg. If the wire is under tension of 60 N. What is the speed of
transverse waves on the wire?
Options:
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The wavelength of Ultraviolet rays is:
Options:
1 % 700 nm to 400 nm

= % 400 nm to 40 nm
= « 400 nm to 10 nm

4 % 400 nm to 100 nm
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. % 700 nm & 400 nm
> % 400 nm & 40 nm
=« 400 nm & 10 nm

4 % 400 nm & 100 nm
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The earth takes 24 hours to rotate once about its axis. How much time does the sun take to shift by 12 when viewed
from the earth?

Options:
1 % 0.4min

- % 0.04 min
3 o 4 min

4 % 0.004 min
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Options:
1 % 0.4 min

> # 0.04 min
2 « 4 min

4 % 0.004 min
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The Wave theory of light was put forward by:

Options:
1 % Foucault

-  Christiaan Huygens

5 % Ihomas Young

4 % Maxwell
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Who suggested that ‘the entire positive charge and most of the mass of the atom are concentrated in the nucleus with the

electrons some distance away’?

Options:



1 % J.J. Thomson
- % John Dalton
= % Ernst Marsden

4 + Ernst Rutherford
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Which of the following diodes is designed to operate under reverse bias in the breakdown region and used as a voltage
regulator?

Options:
; = PN junction Diode

> % Gunn Diode
z « Zener Diode

4 % Photodiode
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Correct Marks: 1 Wrong Marks: 0.25

If an antenna radiates electromagnetic waves from height hr, then the range d is given by: (Where R is the radius of
the earth)

Options:

, % Squareroot of 2R ~hr

- % Squareroot of 2R /ht

-  Square root of 2Rhy

4 % Square root of 2R - hy

Question Number : 112 Question Id : 5459276376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

2R + hy & TIHA
.« 2R/ hy #1 T
. » 2Rhy & g

, « 2R - hy & T

Question Number : 113 Question Id : 5459276377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Calculate the potential at a point P due to a charge of 4 X 107'C located 9 cm away:
Options:
| % 4X10°V

> % 4x10%V
s o 4x10*V

4 % 4x10°3V

Question Number : 113 Question Id : 5459276377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 x 107C & 9 cm # g W B & % FRor g P 9T &7/ 1 70T HL

Options:

L = 4x10%V
- % 4x1074 V
5 & 4x10% V

4 % 4x1073V

Question Number : 114 Question Id : 5459276378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Arrange the given conductors according to their Resistivity at 20 ° C (in the increasing order of their Resistivity)
(A) Tungsten (B) Mercury (C) Silver (D) Copper

Options:

; & ACBD

> v CDAB
- x BADC

4 # CABD

Question Number : 114 Question Id : 5459276378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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(A) TITEET (B) AT (C) fe=T (D) 1T
Options:

. = ACBD
5 IGTAB
«a BADE

4 CGABD

Question Number : 115 Question Id : 5459276379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A straight wire of mass 300 g and length 1.5 m carries a current of 3 A. It is suspended in mid-air by a uniform

horizontal magnetic field B. What is the magnitude of the magnetic field? (Take g = 9.81&”52)

Options:
{ % 0.065T

4 o 0.65T

Question Number : 115 Question Id : 5459276379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
300 g g=T AT AT 1.5 m &2 & UF A a7 3 A &7 U F g9 FIT &1 W 7T g9 A, TF
A Ao g a1 B ganr Awtaa fhar smer &1 SR & @ aRemr #r 82 (Fe g = 9.8

mfsg}

Options:

. % 0.065 T
> % 65T
2% 65T

v 065 T



Question Number : 116 Question Id : 5459276380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A resistor of 200 Q and a capacitor of 15.0 puF are connected in series to a 220 V.50 Hz ac source. Calculate the rms
current in the circuit:
Options:

e

, ® 755
> % T5.5A
s & 0.755A

4 ® 0.0755A

Question Number : 116 Question Id : 5459276380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

200 O T IR AR 15.0 pF # v Furlis, g@er & 220 V.50 Hz acmﬁggrgm%l " &
rms oRT Fr ITUEAT F:

Options:

. % 755 A
. % 755 A
- v 0.755 A

. % 0.0755 A

Question Number : 117 Question Id : 5459276381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most familiar form of electromagnetic waves is:

Options:

, w Ultraviolet rays

- % Infrared waves
=z % Radio waves

4  Visible rays

Question Number : 117 Question Id : 5459276381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 5459276382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Two slits are made one millimeter apart and the screen is placed one metre away. What is the fringe separation when

blue-green light wavelength 500 nm is used:
Options:
1 % S5mm

> o 0.5 mm
=z % 0.05 mm

4 % 0.005 mm

Question Number : 118 Question Id : 5459276382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 % 5 mm
> « 0.5 mm

z % 0.06 mm

4 % 0.005 mm

Question Number : 119 Question Id : 5459276383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following statements is incorrect?
Options:
, = Photons are electrically neutral

- = Inaphoton-particle collision, the photon may be absorbed or a new photon may be created

-  Photon energy is dependent of intensity of radiation

4 = Stable photons are not deflected by electric or magnetic field

Question Number : 119 Question Id : 5459276383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

2a wrerd, fFega &7 & deFT 8
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Question Number : 120 Question Id : 5459276384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the wave length of the Ho line:

Options:
1 « 6563 nm
- % 65.63 nm

=z % 06.563 nm

4 % 0.6563 nm

Question Number : 120 Question Id : 5459276384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 « 6b6.3 nm
> % 65.63 nm
2z % 6.563 nm
4 #% 0.6563 nm
Discipline?
Group Number : 7
Group Id : 545927317
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 545027317
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927381
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 5459276385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following reactors use water as moderator?
Options:

1 % Zerlina



> % Dhruva
5 o Apsara

4 % Kamini

Question Number : 121 Question Id : 5459276385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 122 Question Id : 5459276386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many molecules of water are there in a cup of water of mass 200 g?

Options:
1. o 6.60x10%* molecules

o % 6.69x1072* molecules
3 % 6.69x10% molecules

4 % 6.69x10% molecules

Question Number : 122 Question Id : 5459276386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

200 g FEIAH & TH &9 Ul H fFad 307 g §2
Options:

. 6.69x102% 30T
1 ¢ 5




 B.69x107%4 3yUT
5 ® =

. B.69x1023 3707
= # o

 B.69x10723 37T
4 ® 2

Question Number : 123 Question Id : 5459276387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The resistance of the platinum wire of a platinum resistance thermometer at the ice point is 10 € and at steam point is

10.46 ©.When the thermometer is inserted in a hot bath, the resistance of platinum wire is 11.59 €. Calculate the
temperature of the bath.
Options:

1 #® 343565 °9C

5 o 345.65°C
s % 3456.5°C

4 % 3.4565°C

Question Number : 123 Question Id : 5459276387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| % 34565 °C
,  345.65 °C
5 % 34565 °C

. % 3.4565 °C

Question Number : 124 Question Id : 5459276388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the magnetic meridian of a certain place, the horizontal component of the earth’s magnetic field is 0.26 G and the dip

angle is 60 ° . What is the magnetic field of the earth at this location:



Options:
1« 0.52G

LA

[
b
LA
I-J
2

Question Number : 124 Question Id : 5459276388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, v 052 G
, % 52 G
2% 52 G

4 % 0.052 G

Question Number : 125 Question Id : 5459276389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Kamala peddles a stationary bicycle. The pedals of the bicycles are attached to a 100 turn coil of area 0.10 m-. The coil
rotates at half a revolution per second and it is placed in a uniform magnetic field 0of 0.01 T perpendicular to the axis of

rotation of the coil. What is the maximum voltage generated in the coil?
Options:

1 % 3.14V

5 o 0314V

= % 0.0314V

4 % 314V

Question Number : 125 Question Id : 5459276389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L % 314V
. v 0314V
- % 00314 V

4 % 314V

Question Number : 126 Question Id : 5459276390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The energy of gamma ray photon is Ey, that of an X-ray photon is Ex and that of visible light photon has an energy of
Ev, then:

Options:
1 % Er>=Ev>Ex

> o BEr>Ex>Ev
- # Ev>Er=Ex

4 % Ex>Ev>Er

Question Number : 126 Question Id : 5459276390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT BFrer wrefEw $r I Ey, F9F AT Bieia Fr Ex § 3T 1gAE g we $r FAr Ev @
g, T

Options:

1 # Er > Ev> Ex

> « Er *Ex > Ev
z % BEv > Er> Ex

4 % Ex > Ev> Er

Question Number : 127 Question Id : 5459276391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What focal length should the reading spectacles have for a person for whom the least distance of distinct vision is 50
cm?
Options:

1 % -50cm

> o 50 cm

= % -25cm

e
g{
2
LA
i
=

Question Number : 127 Question Id : 5459276391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % -50cm

> « D0cm
=z % -2bcm

4 ® 2bcm

Question Number : 128 Question 1d : 5459276392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Assume that light of wavelength 6000 ° A is coming from a star. What is the limit of resolution of a telescope whose

objective has a diameter of 100 inch:
Options:

1 ® =29x% 107 radians
o ® = 2.9x10° radians
3 o 2.9x107 radians

. 2.9x10" radians

Question Number : 128 Question Id : 5459276392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



A Aitere & BT AR @ 3T W@ W F7 O SeF 6000°A §| 3¥ e & Raieqzys @ g Fa
¢ orEsF HTeaiTaeT (WR-FAY Fr o) &1 =37 100 59 &7 =0F ¢

Options:

L= = 2.9x 10° ¥fza=
- % = 2.9x10° ¥zm=
2w = 2.9x107 iRT=
4 % = 2.9x107 ¥Eoa

Question Number : 129 Question Id : 5459276393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the de Broglie wavelength associated with an electron, accelerated through a potential difference of 100 V?

Options:
1 % 0.0123nm

> % 12.3nm
= o 0.123nm

4 % 1.23nm

Question Number : 129 Question Id : 5459276393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 # 0.0123 nm

> % 12.3 nm
2 « 0.123 nm

4 % 123 nm

Question Number : 130 Question Id : 5459276394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Atoms of have identical electronic structure, have identical chemical behavior and are placed in the same
location in the periodic table.
Options:

1 % isotones

> % isobars
%z % Stereoisomers

4 « isotopes

Question Number : 130 Question Id : 5459276394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 131 Question Id : 5459276395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which tvpe of semiconductor is obtained on mixing the arsenic into the silicon?

Options:

| % P-type
5 o D-Type
- % internal

4 % external

Question Number : 131 Question Id : 5459276395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® PHFR
2 o NFR
. % HEARS
4 % B

Question Number : 132 Question Id : 5459276396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Unit of mole fraction is:
Options:

1 % Moles/ litre

Moles / litre?

P2
4

= % Moles-litre

4 « Unitless

Question Number : 132 Question Id : 5459276396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 5459276397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The salt bridge does not serve which of the following functions?



Options:
, = It provides an electrical contact between two solutions

- » It completes the electrical circuit between the two solutions

5 « It allows the mixing of electrode solutions

4 = ltmaintains electrical neutrality in both solutions by flow of ions

Question Number : 133 Question 1d : 5459276397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 134 Question Id : 5459276398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following does not represent the description of Molecularity?
Options:

, = the number of reactant molecules taking part in an elementary reaction

- w the theoretical property indicating the number of reactant molecules involved in each act leading to reaction

5 « the property of both elementary and complex reactions

4 w always an integer and never be a fraction or zero

Question Number : 134 Question Id : 5459276398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 135 Question Id : 5459276399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following occurs at a high temperature?

Options:
, w Absorption

Adsorption
Physiosorption

4 « Chemisorption

Question Number : 135 Question Id : 5459276399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 136 Question Id : 5459276400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Composition of Azurite mineral is:



Options:
1 ® JCuCD_;ECu[GH'I:
3CuCO,Cu [’DH]:
2 Cu,(CO, ), (OH),

3CuCO.Cu(OH) ;

Question Number : 136 Question Id : 5459276400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3STSE WA=t (Azurite mineral) Fr TI= T ¢

Options:
1 ® JC&CD_;IC&,I_'GH'I:

ICuCO,Cu [“QH]:
Cu(CO),(OHD,

SCuCO.Cul OH) 4

Question Number : 137 Question 1d : 5459276401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When conc:H>SOy is added to KMnO,, one of the compounds formed is:

Options:
w MnOs

DR

, % MnSO,

5 & MnpOs

4 v MmO;

Question Number : 137 Question Id : 5459276401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



. % MnS0,

5 % MnoO3

i MHEO}'

Question Number : 138 Question Id : 5459276402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The molecules or ions which are coordinated to the metal atom or ion in a coordination compound are called:

Options:
, w charge of metal ions

- % coordination numbers
2 B EANs

4 « ligands

Question Number : 138 Question Id : 5459276402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 139 Question Id : 5459276403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Grignard reagent is:

Options:



An alkyl halide when treated with pure and wet magnesium in the presence of pure and dry ether forms an alkyl
, w magnesium halide.

An alkyl halide when treated with pure and dry magnese in the presence of pure and dry ether forms an alkyl
. magnesium halide.

An alkyl] halide when treated with pure and dry magnesium in the presence of pure and dry ether forms an alkyl
» magnesium halide.

An alkyl] halide when treated with pure and dry magnesium in the presence of pure and wet ether forms an alkyl
, magnesium halide.

Question Number : 139 Question Id : 5459276403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 5459276404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a fat soluble vitamin?

Options:
1 % Vitamin E
> % Vitamin K

3 o Vitamin C

4 % Vitamin A

Question Number : 140 Question Id : 5459276404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

e 7 @ 7 @1 F@ & goehe Fafaa a@ 22

Options:
, % T@a@a E
> # f@a@a K
g« ECUEC e
4 = Taaf@a A
Discipline=
Group Number : 8
Group Id: 545927318
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Disciplines
Section Id : 545027318
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 545927382
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 5459276405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following contains biodegradable polymers only?



Options:
. % Starch, PHBV, PVC

5 % Bakelite.Cellulose Nvlon-6.6

s R Cellulose, Starch, PVC

4 « PHBV. Dextrose, Nylon-2-nylon -6
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Example of antifertility drug is:

Options:
1 % Salvarsan

Chloramphenicol

=z % Seldane

4 « Novestrol
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Question Number : 143 Question Id : 5459276407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The distance between the electrodes of a conductivity cell is 0.98cm and area of cross section of the electrode is

1.3cm?.Calculate the cell constant for the cell:
Options:
1 ® 0.7538cm

=

0.7538cm>

M2
#®

0.7538cm™

W
E

4 v 0.7538cm’
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1 # 0.7538cm
> % 0.7538cm?
5 % 0.7538cm™

4 v 0.7538cm!

Question Number : 144 Question Id : 5459276408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is used in research laboratories for the detection of mesons and gamma photons?



Options:
, = Liquid Helium

5 % Krypton-35
s  Liquid Xenon

4 % Radon
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Question Number : 145 Question Id : 5459276409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lanthanoids are placed in:

Options:

| % 3™ group and 5% period

3™ group and 6™ period

3'4 group and 3 period

3™ group and 4™ period
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 146 Question Id : 5459276410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The complex ions [Co(NH3)5(ONO] >~ and [CD(NIﬁ)ﬂNDE]} are called:
Options:

1 # coordination isometrs

- % lonisation isomers
5  linkage isomers

5 % geometrical isomers
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Question Number : 147 Question Id : 5459276411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The aromatic hydroxyl compounds in which one or more hydroxyl groups are directly attached to the aromatic nucleus
are called:

Options:
1 % esters

> % alcohols

-  DPhenols

4 % ethers
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Question Number : 148 Question Id : 5459276412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Metaldehyde is a:

Options:
, = trimer of formaldehyde

trimer of acetaldehyde

= % dimer of acetone

4  tetramer of acetaldehyde

Question Number : 148 Question Id : 5459276412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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AT vfesgss & &

Options:

BIATeserss # TR
vdrefezess w1 fm
THE & 3HT

» TEefesgET T TR

Question Number : 149 Question Id : 5459276413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following amines cannot be prepared by Gabriel phthalimide synthesis

Options:
, % sec-propylamine

- u tert-butylamine

5 « N-Methylbenzylamine

4 = Z2-Phenylethyamine

Question Number : 149 Question Id : 5459276413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 150 Question Id : 5459276414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 5459276414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The number of sp2 and sp3 hybridised carbon atoms in fructose are respectively:

Options:
1 % 4and 2

> % 2and4
3 o land 5

4 % Sand 1
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Question Number : 151 Question Id : 5459276415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Natural rubber is a polymer of:
Options:

, = 2-methyl-3, 1 butadiene

5 o 2-methyl-1, 3 butadiene

- » methyl-3. 1 butadiene

4 = methyl-1. 3 butadiene

Question Number : 152 Question Id : 5459276416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An ionic compound AxXBy occurs in fec type crystal structure with B ion at the centre of each face and A ion occupying

corners of the cube. Give the formula of AxBy.

Options:
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Options:

.« AsB
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Question Number : 153 Question 1d : 5459276417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The observed depression in the freezing point of water for a particular solution is 0.08 7K. Calculate the molality of the

solution if molal depression constant for water is 1.86K kg mol™.
Options:
, % 0.467 molkg?

167 o1
o « 0.0467 mol kg

. % 0.00467 mol kg'!

, % 0.000467 mol kg’
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Options:

. » 0.467 mol kg’
. » 0.0467 mol kg™

0.00467 mol kg

z &
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Question Number : 154 Question 1d : 5459276418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a property of Electrolytic cell?

Options:
, = Anode is positive and cathode is negative

-~ = Anelectric current drives a non-spontaneous reaction

5  Reduction occurs at positive electrode



4 w Electrical energy is converted into chemical energy

Question Number : 154 Question Id : 5459276418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 155 Question Id : 5459276419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a characteristic of adsorption?

Options:
, = Itinvolves uniform distribution of the molecular specie throughout the bulk

- # It occurs throughout the body of material

= % It occurs at a uniform rate

4 « Itisrapid in the beginning
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Question Number : 156 Question Id : 5459276420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

There is very little difference in acid strength in the series HyPO4.H,PO; and H;PO; because:
Options:

1% Phosphorus in these acids exists in different oxidation states

-  The hydrogen in these acids are not all bounded to the phosphorus

- » InH3PO; Resonance is possible, but H3PO,.H3;PO5 Cross resonance is possible

4 = Phosphorus oxides are less basic

Question Number : 156 Question Id : 5459276420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 157 Question Id : 5459276421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is correct?

Options:

;% A slag is a light material and soluble in molten metal



- u Aslag forms separate layer below the molten metal

- = Aslag allows the oxidation of metal by air

4 « Aslagis a waste product
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Benzyl phenyl ether reacts with hydrogen bromide to form:
Options:

, = benzyl alcohol and phenol

- % benzyl bromide and bromobenzene

- # benzylalcohol and bromobenzene

4 « benzyl bromide and phenol
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Question Number : 159 Question Id : 5459276423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The = C = O group in aldehydes and ketones is reduced to -CH2- group by:

Options:
1 # Cannizzaro reaction

- % Aldol addition reaction
= « Clemmensen reduction

4 w Friedel-Crafts acylation
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 160 Question Id : 5459276424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is correct?
Options:

, = Aryl amines are generally non-toxic.



- w Amines are less polar than alkanes.

5 » Amines have low boiling points.

4 « Lower aliphatic amines are colourless.
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Question Number : 161 Question Id : 5459276425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the principal value of 51'11‘1(1 /~N2)

Options:
p » 11/2
> = I1/3

S.fHM‘

g I1/5

Question Number : 161 Question Id : 5459276425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % I/2
5 % [ f3
s 1114

4 ® I1/s

Question Number : 162 Question Id : 5459276426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statements is incorrect

Options:

; = Thevalue of the determinant remains unchanged if its rows and columns are interchanged

> » Ifanytwo rows (or columns) of a determinant are interchanged, then the sign of determinant changes



If any two rows (or columns) of a determinant are identical(all corresponding elements are same).then the value of

= « determinant is non-zero

4 » Ifeach element of a row(or column)of a determinant is multiplied by a constant k. then its value gets multiplied by k

Question Number : 162 Question Id : 5459276426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 5459276427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Find the slope of the tangent to the curve }J=x3‘-x at x=2.

Options:
1. ® 10

o ® -10

3_;_;.#'11
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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3« 11

4 ® -11

Question Number : 164 Question Id : 5459276428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
' i’ ; - :
Area of the region bounded by the curve yv= = 4x. y-axis and the line y = 3 is:

Options:
1 = 9/5 square umts

o  9/4 square units

- = 9/3 square units

4 ® 9/2 square units

Question Number : 164 Question Id : 5459276428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

, = 9/5 square units

5  9/4 square units

9/3 square units

L
®

9/2 square units
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Question Number : 165 Question Id : 5459276429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the area of a triangle having points A (1, 1. 1) B (1. 2, 3) and C (2, 3. 1) as its vertices:

Options:

| % 12N27

5 % 1/2422



5 o 172421

4 % 1/2N24

Question Number : 165 Question Id : 5459276429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 5459276430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Any point on feasible region that gives the maximum or minimum of the objective function is called a / an:

Options:
1 #% feasible choice

- % infeasible solution

5  Optimal solution

4 % constraints

Question Number : 166 Question Id : 5459276430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 5459276431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a matrix has 8 elements, it can have maximum of possible pairs of orders.

Options:

Question Number : 167 Question Id : 5459276431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question Id : 5459276432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Differentiate sin(log x)., x = 0 with respect to x:
Options:

; = cos(logx)

> w cos(log-x)/x

5  C0s(logx)/x



4 w cos(logx)/-x

Question Number : 168 Question Id : 5459276432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

sin(log x), x>0 F x & TFT & JuF (BwEifRe) U

Options:
. = cos(leg x)

, » cos(log -x) / x

5  cos(log x) / x

4 = cos(log x) / -x

Question Number : 169 Question Id : 5459276433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An anti-derivative of cos 2x by using method of inspection:

Options:
1 % Yasin-2x

> % Y2-sin 2x
3 % - Y sin2x

4 « Y28in2x

Question Number : 169 Question Id : 5459276433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 ® Yz sin -2x

> #% Y2 -8in 2x
z % - Y2 sin 2X

4 « Y2 sin 2x



Question Number : 170 Question 1d : 5459276434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Form the differential equation representing the family of curves y= mx. where ,m is arbitrary constant:
Options:
i —
, o Xdyldx—y=0

> & Xdwdy—y=0

5 % X dy/dx +y=0

4 % Xd-yldx—y=0

Question Number : 170 Question Id : 5459276434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| w X dyldx -y =0

5w X dxdy -y =0
5 » X dy/dx +y =0
4w X d-y/dx -y =0

Question Number : 171 Question Id : 5459276435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a line has direction ratios 2, -1, -2, its Direction cosines are:

Options:
% -2/3,2/3.-1/3

i
-1/3,-2/3.2/3
2/3.-2/3.-1/3

v 2/3,-1/3,-2/3



Question Number : 171 Question Id : 5459276435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Eﬁ'mmﬁ'ﬁ‘waﬁmﬁl -1, -2 & ar g8+ g cosines Fm &

Options:

| w <2/3 23, -1/3
1/3,-2/3,2/3
2/3,-2/3,-1/3

4 v 2/3,-1/3,-213

Question Number : 172 Question Id : 5459276436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Let R be the relation in the set N given by R = {(a.b) : a=Db -2, b = 6}. Choose the correct answer:

Options:
. & @4eR

5 ® 7.6)eR

, v (68)eR
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT FRTaITR={a b):a=b-2 b>6} Bc #N HR F =Y g, Tl 3cc] H IIT FL:
Options:

1. #® (24}

R

m

sou (@I E B

. % (7.8) £ R

. v (68) cR

Question Number : 173 Question Id : 5459276437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Find dy/dx. if x=a cos 8.y = sin 6.

Options:
1 % cotB

> o -CotB
-z % -sinf

4 % sinB

Question Number : 173 Question 1d : 5459276437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afg x = a cos 6, y = sin 8 & & dy/dx & AT AT F|

Options:
1 % cot O

-  -cot B
=z % -sin B

4 % Sin O

Question Number : 174 Question Id : 5459276438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the anti-derivative F of:

f {X}=4:=;3—63.vhere F(0)=3
Options:

1% x3-6%+3

> B x*-6x-3

= % X 6x+3

4 o x*-6x+3

Question Number : 174 Question Id : 5459276438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



f(x)=4x>-6 =1 T&r AT F A9 +L Tor@H F(0)=3 &

Options:
1 ® X3-6x+3

5 R x*-6x-3
3 x4 +6x+3

4 x*-6x+3

Question Number : 175 Question Id : 5459276439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The probability that a prime number selected at random numbers (1, 2. 3. ...... 38) is:

Options:
1 % 719

> % 8/19
3  6/19

4 % 9/19

Question Number : 175 Question Id : 5459276439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEReE FEA (1, 2, 3, ...38) W IO Ue WHE WA Y fhae aE &

Options:

, % 7119
. % 8/19
- v B/19

4 % 919

Question Number : 176 Question Id : 5459276440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which among these is not a post-fertilisation event?

Options:



1 # Fruit formation
- #% Seed formation

5 % Embryogenesis

4  Gametogenesis

Question Number : 176 Question Id : 5459276440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
SAH U Fid T U U= & 91€ Hr U Jer &7

Options:

. % Wl &1 f&&HmT
> % 81T AT

i HUEa (Embryogenesis)

—deen oo
4 & 2

Question Number : 177 Question Id : 5459276441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the endocrine glands is only present during pregnancy?

Options:
, = Pituitary gland

- % Thyroid gland

= « Placenta

4 #% Adrenal

Question Number : 177 Question Id : 5459276441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
THIEEAT % G HAHET AR H § Fad Hid G AT FAleg ger 87

Options:



o Hf&gFF (Adrenal)

Question Number : 178 Question Id : 5459276442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In sickle cell anaemia, glutamic acid is replaced by valine. Which one of the following are triplets codes for valine?

Options:
, % GGG

> « GUG
5 % GAA

4 % AAG

Question Number : 178 Question Id : 5459276442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e B TATHAT H, TEEAS UIAS &I 3o g@nT Saed R A g ata F R T A 9
HiF T Taw wE 7

Options:

. % GGG
- v GUG
=z & GAA

g ® AAG

Question Number : 179 Question Id : 5459276443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Analogous structures are a result of evolution.

Options:



, w Divergent

5 of Convergent

%z % Parallel

4 % Unilateral

Question Number : 179 Question Id : 5459276443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UATTdT T e H & faerE &7 ofoms 2

Options:

. E&fd== (Divergent)

1.

, » Fa=ic (EfAfeE)

z % HAEAY

4 » Tl (Unilateral)

Question Number : 180 Question 1d : 5459276444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The chemical test that is used for diagnosis of typhoid is:

Options:
1 % ELISA test

- % PCR test
5 o Widal test

4 ® ESR test

Question Number : 180 Question Id : 5459276444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
eeweE & foge & forv frw gwmafas odetor 1 s BT S g

Options:

1. ® Eﬁ'ﬂTEIﬁHUT



> » PCR Tdrefor
- « Widal wirafor
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Question Number : 181 Question Id : 5459276445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sonalika and Kalyan Sona are varieties of;

Options:
1 % Rice

- % Tomatoe



3 « Wheat

4 = Sorghum

Question Number : 181 Question Id : 5459276445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 3T Feamor 31 & § ¥ FEdr e &

Options:

S.Jﬂ_&:

4ww

Question Number : 182 Question Id : 5459276446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Amensalism is an association between two species where:
Options:

; % One species is harmed and the other is benefitted

-  One species is harmed and the other is unaffected

- % One species is benefitted and the other is unaffected

, = DBoth the species are harmed

Question Number : 182 Question Id : 5459276446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TAFATOEH 2 Tgal & €19 U Ty g Fan
Options:
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Question Number : 183 Question Id : 5459276447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Decomposers like fungi and bacteria are:
(A) Autotrophs (B) Heterotrophs (C) Saprotrophs (D) Chemotrophs

Choose the correct answer.
Options:
1 % AandC

- % AandD
3 o B and C

4 % AandB

Question Number : 183 Question Id : 5459276447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

- v B3R C

Question Number : 184 Question Id : 5459276448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
The historic convention on Biological Diversity held in Rio de Janeiro in:

Options:



, % 1982
> o 1992
5 % 2002

4 % 2012

Question Number : 184 Question 1d : 5459276448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 1982
5 v 1992
5 % 2002

4 % 2012

Question Number : 185 Question Id : 5459276449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
World’s most problematic aquatic weed is:

Options:
; = Irapa

- % Wolffia
2 % Azolla

4 + Eichornia

Question Number : 185 Question Id : 5459276449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| w G




Question Number : 186 Question Id : 5459276450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From among the sets of terms given below, identify those that are associated with gynoecium:
Options:

= Ovule Stamen, Ovary, Embryo sac

» = Ovule, Pollengrain, Ovary, Embryo sac

5 « Ovule, Stigma , Ovary, Embryo sac

4 = Ovule, Stigma, Ovary. pollen tube

Question Number : 186 Question 1d : 5459276450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A= T 7T eredl F W H W, 3 GgEF HL, S SR (gynoecium) T 3 €

Options:

5 §ISTS, TRIET FHUT, I, HUT o
drars, TEeean, s, gor ¥

.« Sr=rs, fEeTar, HER, WET a6

Question Number : 187 Question Id : 5459276451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
In which of the following methods is used to treat infertility in which an egg fertilized in vitro is placed into a woman’s

fallopian tube;
Options:



, ® GIFT
> % ICSI

5 o ZIFT

Question Number : 187 Question 1d : 5459276451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

S FT SN e & o0 @Fa H ¥ &g RS #r suger Gy oar & S5d #fgen & Frmagr #7
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Options:

, % GIFT
. % ICSI
2 v ZIFT

g ® ET

Question Number : 188 Question Id : 5459276452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following stages the formation of zygote takes place?

Options:
1 % Pre-fertilization

-~ « Fertilization
= % Post fertilization

4 % Pollination

Question Number : 188 Question Id : 5459276452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o 7 & B8 =T F geAas F RAT g 27
Options:

| o @ g




Question Number : 189 Question 1d : 5459276453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The first menstruation begins at puberty and is called

Options:
1 % Menses

> « Menarche

5 % Menopause

4 = Andropause

Question Number : 189 Question Id : 5459276453 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qgeT AIfEE OH Alae I W YT g ¢ AR 5 FET JaT 2

Options:

, » G (Menses)

, » &EYs (Menarche)
o % FEifegiead (Menopause)

, » U3 (Andropause)

Question Number : 190 Question Id : 5459276454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following bacteria are present in the rumen ( a part of stomach ) of cattle?
Options:

1 % Chromobacteria



> % Flavobacteria
z « Methanobacteria

4 % Lactobacillus bacteria

Question Number : 190 Question Id : 5459276454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T & & #i7 @ SR 7R F AT (ST F: 3T 9 F Aeg 87

Options:

;% AT i
> % TAAr SEFehEr
5 v HUTEr SFRRET
4 % wECIATHOE SFIRaT

Question Number : 191 Question 1d : 5459276455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a processes of recombinant DNA Technology?

Options:
1 % Isolation of DNA

- » Fragmentation of DNA

- # Ligation of DNA fragment into a vector

4 « Culturing ofhost cells in a medium at a small scale

Question Number : 191 Question Id : 5459276455 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
om A @ Fla @ o g DNA siezifFer Fir gfesar agr 87

Options:
. % DNA T 3TeETT




> = DNA =T Rrg=a

. » T # DNA ¥ g2 # qurg

, v TG TR T AT § A PR F e g

Question Number : 192 Question Id : 5459276456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are being developed for use in testing the safety of vaccines before they are tested on humans?

Options:
, = Iransgenic rabbits

- = [lransgenic pigs

5  lransgenic mice

4 # lransgenic cows

Question Number : 192 Question Id : 5459276456 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|« TESATAE G
, o SIESteh IR
, gaafas 9

=
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Question Number : 193 Question 1d : 5459276457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following layers Ozone is mainly found?

Options:



, w Mesosphere
Exosphere
Ionosphere

4 « Stratosphere

Question Number : 193 Question Id ;: 5459276457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T & & B9 e & HST 9@ S1er g2
Options:

1 % HeOHSS

4 v TAAY #s

Question Number : 194 Question Id : 5459276458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The male gametes of human being have 23 chromosomes in their nucleus. The chromosome number in the female
gamete. zygote and the cells of the child will be, respectively:

Options:
| % 462346

, w 46,4623
5 » 46,23,26

4 o 23:46,46

Question Number : 194 Question Id : 5459276458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AAE & F JIA® & UIH 3HS A1 A 23 0T G A &1 Afgen TIFEF, JIAAS AT g=a H FHRwrad
# 70T gF F FE&qr FAw g get

Options:




| x 46,2346
, » 46,4623
. » 46,2326

. v 23,46,46

Question Number : 195 Question Id : 5459276459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following statement is correct?

Options:

. = Inmajority of the flowering plants, three of the megaspores are functional while the other one degenerate

> # Inmajority of the flowering plants, two of the megaspores are functional while the other two degenerate

- « Inmajority of the flowering plants, one of the megaspores is functional while the other three degenerate

4 = Inmajority of the flowering plants, three of the megaspores are functional while the other two degenerate

Question Number : 195 Question Id : 5459276459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 196 Question Id : 5459276460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following hormones are produced in women only during pregnancy?

(A) hPL (B) Progestogens (C) Relaxin (D) hCG

Options:



A and B only

,_.
4

B. C and D only
A, B and D only

4 « A CandD only

Question Number : 196 Question Id : 5459276460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ i ¥ grata, afgerst F e F ST & 309 2 22
(A) hPL (B) Sroar=i= (C) f@if@a= (D) hCG

Options:

. % %I A T B

. » % B, C 3T D
.« ®a A, B 3R D

L v FFTA C3IHRD

Question Number : 197 Question Id : 5459276461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The correct surgical procedure as a contraceptive method is:

Options:
.= Ovarlectomy

5 % Hysterectomy

% % Castration

4 o Vasectomy

Question Number : 197 Question Id : 5459276461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



2> %
5 % SEITRTOT
g B i

Question Number : 198 Question Id : 5459276462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following animals.the fertilization is external?
Options:

1 % Crocodiles

- % Snakes

5 o Frog

4 % Parrot

Question Number : 198 Question Id : 5459276462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
| & FIRA=G

o ® '*':fq
= & HEH

4_&3?‘?'?‘”

Question Number : 199 Question Id : 5459276463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Which of the following is regarded as one of the most significant discoveries of the twentieth centuary and have greatly

contributed towards the welfare of the human society?

Options:



Antigens

,_.
4

- « Antibiotics
=z % Antibodies

4 % Serum

Question Number : 199 Question Id : 5459276463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® SICEC)

g_JgﬁGﬁﬁT
S_QW

., S ()

Question Number : 200 Question Id : 5459276464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The rate of biomass production is called the productivity and is expressed in terms of

Options:

:
| w gmiyr!

=
, % gmlyr!

= ¥
s @ gmiyr!

1
, % gm’yr!

Question Number : 200 Question Id : 5459276464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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